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1.Given atable T1, with a column C1 char(3), that contains strings in upper and lower case letters,
which of the following queries will find all rows where C1 is the string 'ABC' in any case?
A.SELECT * FROM t1 WHERE c1 ="'ABC'

B.SELECT * FROM t1 WHERE UCASE(cl) = 'ABC'

C.SELECT * FROM t1 WHERE IGNORE_CASE(cl1 ='ABC')

D.SELECT * FROM t1 WHERE c1 = 'ABC' WITH OPTION CASE INSENSITIVE

Correct:B

2.Given the two following tables: Names Name Number Wayne Gretzky 99 Jaromir Jagr 68 Bobby
Orr 4 Bobby Hull 23 Brett Hull 16 Mario Lemieux 66 Steve Yzerman 19 Claude Lemieux 19 Mark
Messier 11 Mats Sundin 13 Points Name Points Wayne Gretzky 244 Jaromir Jagr 68 Bobby Orr 129
Bobby Hull 93 Brett Hull 121 Mario Lemieux 189 Joe Sakic 94 Which of the following statements
will display the player Names, numbers and points for all players with an entry in both tables?
Which of the following statements will display the player? Names, numbers and points for all
players with an entry in both tables?

A.SELECT names.name, names.number, points.points FROM names INNER JOIN points ON
names.name=points.name

B.SELECT names.name, names.number, points.points FROM names FULL OUTER JOIN points ON
names.name=points.name

C.SELECT names.name, names.number, points.points FROM names LEFT OUTER JOIN points ON
names.name=points.name

D.SELECT names.name, names.number, points.points FROM names RIGHT OUTER JOIN points ON
names.name=points.name

E.SELECT names.name, names.number, points.points FROM names FULL OUTER JOIN points ON
names.name=points.name

F.SELECT names.name, names.number, points.points FROM names LEFT OUTER JOIN points ON
names.name=points.name

G.SELECT names.name, names.number, points.points FROM names RIGHT OUTER JOIN points ON
names.name=points.name

H.SELECT names.name, names.number, points.points FROM names LEFT OUTER JOIN points ON
names.name=points.name

I.SELECT names.name, names.number, points.points FROM names RIGHT OUTER JOIN points ON
names.name=points.name

J.SELECT names.name, names.number, points.points FROM names LEFT OUTER JOIN points ON
names.name=points.name

K.SELECT names.name, names.number, points.points FROM names RIGHT OUTER JOIN points ON
names.name=points.name

Correct:A

3.Given the tables: COUNTRY ID NAME PERSON CITIES 1 Argentina 1 10 2 Canada 2 20 3 Cuba 2
10 4 Germany 1 0 5 France 7 5 STAFF ID LASTNAME 1 Jones 2 Smith The statement: SELECT *
FROM staff, country will return how many rows?

A2

B.4

C5

D.7
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E.10

Correct:E

4.Given the following SQL statements: CREATE TABLE tab1 (coll INT) CREATE TABLE tab2 (coll
INT) INSERT INTO tabl VALUES (NULL),(1) INSERT INTO tab2 VALUES (NULL),(1) SELECT
COUNT(*) FROM tabl WHERE coll IN (SELECT coll FROM tab2) Which of the following is the
result of the SELECT COUNT(*) statement?

Al

B.2

C.3

D.4

E.O

Correct:A

5.Which of the following describes why savepoints are NOT allowed inside an atomic unit of work?
A.Atomic units of work span multiple databases, but savepoints are limited to units of work which operate
on a single database.

B.A savepoint implies that a subset of the work may be allowed to succeed, while atomic operations must
succeed or fail as a unit.

C.A savepoint requires an explicit commit to be released, and commit statements are not allowed in
atomic operations such as compound SQL.

D.A savepoint cannot be created without an active connection to a database, but atomic operations can
contain a CONNECT as a sub-statement.

Correct:B

6.Given the following table definition: STAFF id INTEGER name CHAR(20) dept INTEGER job
CHAR(20) years INTEGER salary DECIMAL(10,2) comm DECIMAL(10,2) The job column contains
these job types: manager, clerk, and salesperson. Which of the following statements will return
the data with all managers together, all clerks together and all salespeople together in the output?
A.SELECT * FROM staff ORDER BY job

B.SELECT job, name FROM staff GROUP BY name, job

C.SELECT * FROM staff GROUP BY name, job, id, dept, years, salary, comm

D.SELECT * FROM staff ORDER BY name, job, id, dept, years, salary, comm

Correct:A

7.Which of the following occurs if an application ends abnormally during an active unit of work?
A.Current unit of work is committed

B.Current unit of work is rolled back

C.Current unit of work remains active

D.Current unit of work moves to pending state

Correct:B

8.User2 has DBADM authority on database DB1. This allows the user to do which of the following?
A.Drop database DB1

B.Backup database DB1

C.Create tables in any database

D.Create tables in database DB1

Correct:D

9.Which of the following is the result of the following SQL statement: ALTER TABLE tablel ADD
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col2 INT WITH DEFAULT

A.The statement fails with a negative SQL code.

B.The statement fails because no default value is specified.

C.A new column called COL2 is added to TABLE1 and populated with zeros.

D.A new column called COL2 is added to TABLE1 and populated with nulls.

E.A new column called COL2, which cannot contain nulls, is added to TABLEL.

Correct:C

10.Given two embedded SQL program executions with the following actions: Pgm1 INSERT INTO
mytab VALUES (...) COMMIT INSERT INTO mytab VALUES (...) ROLLBACK Pgm2 INSERT INTO
mytab VALUES (...) ROLLBACK INSERT INTO mytab VALUES (...) COMMIT How many records will
be successfully inserted and retained in the table mytab?

Al

B.2

C.3

D.4

Correct:B

11.Given the following DDL statement: CREATE TABLE newtabl LIKE tabl Which of the following
would occur as aresult of the statement execution?

A.NEWTABL1 has same triggers as TAB1

B.NEWTABL is populated with TAB1 data

C.NEWTABL1 has the same primary key as TAB1

D.NEWTABL1 columns have same attributes as TAB1

Correct:D

12.Given the table COUNTRY and the statements below: COUNTRY ID NAME PERSON_ID CITIES 1
Argentina 1 10 2 Canada 2 20 3 Cuba 2 104 Germany 1 05 France 7 5 DECLARE ¢c1 CURSOR WITH
HOLD FOR SELECT * FROM country ORDER BY person_id, name OPEN c1 FETCH c1 COMMIT
FETCH c1 Which of the following is the last name obtained from the table?

A.Cuba

B.France

C.Canada

D.Germany

E.Argentina

Correct:C

13.Given an embedded SQL program with a single connection, two threads and the following
actions: Thread 1: INSERT INTO mytab VALUES (...) Thread 2: INSERT INTO mytab VALUES (...)
Thread 1: ROLLBACK Thread 2: INSERT INTO mytab VALUES (...) Thread 1. COMMIT How many
records will be successfully inserted into the table mytab?

A.0

B.1

C.2

D.3

Correct:B

14.Given the table T1 created by: CREATE TABLE t1 ( id INTEGER NOT NULL GENERATED
ALWAYS AS IDENTITY, c1 CHAR(10) NOT NULL, c2 CHAR(10) ) Which of the following INSERT
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statements will succeed?

A.INSERT INTO t1 VALUES (1, 'abc', NULL)

B.INSERT INTO t1 VALUES (1, NULL, 'def")

C.INSERT INTO t1 (c1, c2) VALUES (‘abc’, NULL)

D.INSERT INTO t1 (c1, c2) VALUES (NULL, 'def")

Correct:C

15.Which of the following SQL statements can remove all rows from a table named COUNTRY?
A.DELETE country

B.DELETE FROM country

C.DELETE * FROM country

D.DELETE ALL FROM country

Correct:B

16.Given the following: TAB1 TAB2 C1 C2 CX CY -- - -- - A 11 A21 B 12 C 22 C 13 D 23 The
following results are desired: CLC2CX CY --A 11 A21B 12 - - C 13 C 22 Which of the following
joins will yield the desired results?

A.SELECT * FROM tab1l, tab2 WHERE cl=cx

B.SELECT * FROM tabl INNER JOIN tab2 ON c1=cx

C.SELECT * FROM tabl FULL OUTER JOIN tab2 ON cl=cx

D.SELECT * FROM tabl LEFT OUTER JOIN tab2 ON cl=cx

Correct:D

17.Which of the following tasks can be performed using the ALTER TABLESPACE statement?
A.Assign a bufferpool.

B.Change the table space name.

C.Change the type of the table space.

D.Change the page size of the table space.

Correct:A

18.Which of the following can be accomplished with a single UPDATE statement?

A.Updating multiple tables

B.Updating a view consisting of joined tables

C.Updating multiple tables based on a WHERE clause

D.Updating a table based on a sub-select using joined tables

Correct:D

19.Given the following table definition: STAFF id INTEGER name CHAR(20) dept INTEGER job
CHAR(20) years INTEGER salary DECIMAL(10,2) comm DECIMAL(10,2) Which of the following
SQL statements will return the total number of employees in each department and the
corresponding department id under the following conditions: Only return departments with at
least one employee receiving a commission greater than 5000. The result should be sorted by the
department count from most to least.

A.SELECT dept, COUNT(id) FROM staff WHERE comm > 5000 GROUP BY dept ORDER BY 2 DESC
B.SELECT dept, COUNT(*) FROM staff GROUP BY dept HAVING comm > 5000 ORDER BY 2 DESC
C.SELECT dept, COUNT(*) FROM staff WHERE comm > 5000 GROUP BY dept, comm ORDER BY 2
DESC

D.SELECT dept, comm, COUNT(id) FROM staff WHERE comm > 5000 GROUP BY dept, comm ORDER
BY 3 DESC
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Correct:A
20.Given the following embedded SQL programs:

Frogram 1

_reate table mytab (col1 int, col2 char(24))
_ommit

Frogram 2

Insert into mytab values { 20989 Hloe Smith?
Commit

Insert into mytab values { 21334 Fmy Johnson?
Delete from mytab

Commit

Insert into mytab values { 23430 FH.ason French?
Rollback

Insert into mytab values ( 20993 Framantha Jones?
Commit

Delete from mytab where col1=209393

Rollback

A.20989, Joe Smith
B.21334, Amy Johnson
C.23430, Jason French
D.20993, Samantha Jones
E.No records are returned
Correct:D
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